## **Annexure – H 2 (Cancellation)**

Date: 16.12.2018

<u>Cancellation of locations in the Advertisement published in the website</u>
<u>www.petrolpumpdealerchayan.in for "Appointment of Regular / Rural Retail Outlet (Petrol Pump) Dealerships" by (Name of OMC) on 25.11.2018</u>

An Advertisement was published by **Hindustan Petroleum Corporation Ltd\_**on 25.11.2018 in the website <a href="www.petrolpumpdealerchayan.in">www.petrolpumpdealerchayan.in</a> seeking applications for "Appointment of Regular / Rural Retail Outlet (Petrol Pump) Dealerships" at various locations in the State of **Haryana** with Sl. no 1 to 671.

The Locations with SI no **118**, **119**, **120**, **125**, **147**, **170**, **235**, **239**, **283**, **412**, **417**, **420**, **442**, **499**, **501** and **651** as mentioned below, stand cancelled:-

SI. No	Name of location	Reven ue Distri ct	Type of RO	Estim ated mont hly Sales Poten tial #	Categ ory	Type of Site*	Minimum Dimension (in M.)/Area of the site (in Sq. M.). *			Finance to be arranged by the applicant ( Rs in Lakhs)		Mod e of Selec tion	Fixe d Fee / Mini mum Bid amo unt ( Rs. in Lakh s)	Securi ty Depo sit ( Rs in Lakhs )
1	2	3	4	5	6	7	8			9a	9b	10	11	12
			Regul ar / Rural	MS+H SD in Kls	SC	CC / DC / CFS	Front age	Depth	Area	Estim ated working capita I requirement for operation of RO	Estim ated fund requir ed for devel opme nt of infras tructu re at RO	Draw of Lots / Bidd ing		
					SC CC-1									
					SC PH									
					ST									
					ST CC-1 ST PH									
					ОВС									

					OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH									
118	IN OR BETWEEN KM STONE 76 TO 77 ON NH19 (OLD NH2) LHS FROM FARIDABAD TO MATHURA	PALW AL	Regul ar	220	SC	CFS	40	45	1800	0	0	Draw of Lots	0	3
119	BEWTEEN 41 KM TO 42 KM STONE ON REWARI - NARNAUL ROAD NH-11 LHS	REWA RI	Regul ar	205	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
120	BETWEEN 18 KM TO 19 KM STONE REWARI NARNAUL ROAD NH-11 LHS	REWA RI	Regul ar	190	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
125	BETWEEN 104 KM TO 105 KM STONE ON DELHI JAIPUR ROAD NH-48 (OLD NH-8) RHS	REWA RI	Regul ar	375	OBC	DC	40	45	1800	25	75	Draw of Lots	15	4
147	SECTOR- 27 ON DIVIDING ROAD SEC 27 - SECTOR 43 SHUSHANT LOK PHASE 1 HUDACITY CENTER GOLF COURSE ROAD	GURU GRA M	Regul ar	310	OPEN	DC	20	20	400	25	60	Biddi ng	15	5

170	FROM DAHINA POLICE POST WITHIN 1.5 KM TOWARDS KANINA ON REWARI MAHENDERG ARH ROAD SH-24	REWA RI	Regul ar	285	OBC	DC	40	36	1440	25	60	Draw of Lots	15	4
235	BETWEEN KM STONE 152 AND 153 ON CHHUCHAKW AS CHAKRHI DADRI RD ON RHS, NH334B	JHAJJ AR	Regul ar	160	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
239	BETWEEN KM STONE 378 TO 379 ON ROHTAK JHAJJAR ROAD NH352 (OLD NH71) ON LHS	Jhajja r	Regul ar	150	OPEN	DC	50	50	2500	25	75	Draw of Lots	15	5
283	RHS , VILLAGE KAIL GAON BETWEEN KM STONE NO 41 & 42 ON DELHI- MATHURA ROAD	FARID ABAD	Regul ar	200	OPEN PH	DC	40	45	1800	25	75	Draw of Lots	15	5
412	ON NH 73 (NEW NH 7) BETWEEN KM STONE 147 TO 150, PANCHKULA- YAMUNANAG AR LHS	AMB ALA	Regul ar	170	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
417	BETWEEN KM STONE 69-70 ON NH-152 (HISAR AMBALA ROAD)	KAITH AL	Regul ar	155	OPEN CC 2	DC	45	45	2025	25	75	Draw of Lots	15	5
420	BETWEEN KM STONE 20-21 ON NH-152 (HISAR AMBALA ROAD)	KAITH AL	Regul ar	145	SC	CFS	45	45	2025	0	0	Draw of Lots	0	3
442	Within Panipat town WML	SONI PAT	Regul ar	150	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	3

499	Ishar Nagar, On Mallah Road, with in 2 Kms of CRPF Camp Gate	AMB ALA	Regul ar	180	OBC	DC	26	20	520	25	45	Draw of Lots	15	4
501	Between Km Stone 225- 226, LHS from Kaital to Cheeka on SH11	Kaith al	Regul ar	160	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
651	IN /WITHIN 2KMS OF VILL LADHANPUR ON BHIWANI BYPASS, ON NH148B	CHAR KHI DADR I	REGU LAR	115	OPEN	DC	40	45	1800	25	60	DRA W OF LOTS	15	5

Application fee of those Applicants, who have already submitted the applications along with the requisite application fee for the above locations, shall be refunded.

All other terms & conditions of the advertisement published on 25.11.2018 remains unchanged.